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Background

1) Draw a concept map that relates the units of grams, moles, molecules, and liters to one
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2) Define molarity and identify the units that describe it.
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3) Describe the difference between a dilute and a concentrated solution using the terms
solute and solvent in your answer.
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4) Identify the phase that matches the following terms: o
a. Vapor (33 g3
b. Precipitate /< l . !
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5) Explain what it means for a reactant to be present in excess.
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6) What is the difference between the following problems? Identify what type of problem
each is and how you would solve it.

A. How many grams of AlBr; are there in 250.0mL of a 1.4M solution?
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B. How many grams of AlF3; will be made from mixing 250.0mL of a 0.35M AlBr; solution
and 150.0mL of a 0.45M NaF solution?
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C. How many milliters of a 2.50M stock AlBr; solution would be needed to make 500.0mL
of a 0.15M dilute solution?
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Molarity Calculations

7) How many liters of 0.45M solution could be made from 1.3g of NaC;H30,?
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8) What is the concentration (molarity) of a 155mL solution containing 3.39g of dissolved

5 ‘r:_-’ ‘IL . B 3'3¢i /”11—4{ =
Ba(OH),* 155~ mi C‘mb 2 pIES L . j(r?_—-i.sfj 0.'3;‘;7'

_ 0097 ml
M= 0,55 L —(C1aFM

9) How many grams of Mg(NOs), would be needed to make 450.0mL of a 1.2M solution?
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Solution Stoichiometry 4

Lim
10) pis dipped into d150.0mL solution of 0.340M silver nitrateé How much

precipitate would be produced?

v z
MG (> + 28505 (o) —> My(05), (og) + ey (<)

18D.0 m | M‘JWAP fad B '(1072"7 |
LC 1)( &W['%N‘B) i mal Hg )'5‘5255 A5

A0
HAL3 3 st

sols

11) How much precipitate (g) could be formed from the combination of 125mL of a 2.3M
solution of@mmonium hydroxide and a@trated (excess) solution of copper (ll)
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12) a.@O0.0mL of a 0.6770M magnesium c@solution is mixed with@200.0mL of a

0.8050M sodium phosphatexolution. What is the limiting reagent in the reaction?
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b. How much preCIgatate (g) would be formed in the above reaction?
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c. How many moles of excess reagent would be left over?
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d. If 81.59g of precipitate was actually collected during the experiment, what would be
the percent yield of the experiment?
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13)a. PéS_r;[;Iution of 1.15M potassium @is mixed with(65mL of a 1.25M

hydrogenﬁlo@hydrochloric acid) solution. What is the limiting reagent in the

reaction?
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b. How much water (g) would be formed in the above reaction?
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d. If 1.02g of water was actually collected during the experiment, what would be the
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percent error of the experiment?
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14)How many millilitersof a 2.98M stock HF solution would be needed to make 400.0mL of
a 0.050M solution? M,

My

(297 /A)\/l = (b.050 M)(400.0 ml)

lvl;("‘h?'“l"] 2 s.£
V’:?, .

150f 0.45M dilute solution can be made from 50.0mL of a 1.22M stock
solution? Mo A M,
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16) If 150.0mL of a stock solution was used to make 750.0mL of a 0.80M dilute solution,
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18) a. Provide a detailed procedure on how to properly make 100.0mL of a 0.500M NaOH
solution if you have solid NaOH available for use.
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b. How would the procedure above change if you have a 1.00M stock solution of NaOH
available instead of a solid?
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